Dwvian Iwick

Math2210 Alidlerm 3 Summer, 2010
Scalutions Cpate A/ 29/2¢lT

Name

Instructions; Please show all of your work as particl credit will be given where
appropriate, and there may be no credit given for problems where there is no work
shown. Al answers should be completely simplified, unless otherwise stated.

1. {15 points each} Evaluaie the integrals.
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2. (15 points) Find the area of the smaller region bounded by g=1/6 cond
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(15 points) i R=({x.y):0<x<6,0<y<4] andPisthe parfiion of R info six
equal squares by the lines x = 2, x = 4, and y = 2. Approxima’e ffk Fix, yidi4

&

by calculating the comesponding Riemann sum Z flx,, 7.0 A& 4,
=l

assuming that (X}, 7, } are the centers of the six squares. Take

fix, y)=12—x—y
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Answer 3:

4. {20 points] Find the volume of the solid in the first ociant bounded by the surface

z=9—x '~y and the coordinate planes.
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5. For the infegral V:f jﬂ f dedzdy , dothe following.
o0 ¢

(a) (15 points) Rewrile it, changing the order of infegration o dzdydx . {Dont

evaluate i, iust set it up.}
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T TN TN
() [15 points) For the integral |7 = j j’ ‘5 dydz v rewite it

i} 4 4]
using spherical coordinates. (Don't evaluate #, Just sel it up.)
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4. {20 points} Find the surface area of the part of the paraeloid
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cut off by the plane
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7. 125 points) Find the maximum volume of a closed reciangular box with faces
parallel fo the coordinate pianes inscriped in the ellipsoid
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8. Find the divergence and curl of the following vector fields. {15 points each)

a) Flx,y,zl=yritxz j+xvk
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Exira Credit {15 poinis): Calculote f e ""Ece’x . Note thot vou must show your

calculation, you cannot just state the answer.

ii f R s RN {/5}{: . G
gg} ¢ " oAx - gﬂ’}{hé’f %{ -y
\ Lm0 )~ 97 ) e ldy
_m{;‘*““ /'{
Py N
= (T e e
/!m fj ¢ Ax Ay = | e i\ é
: o0 A ) € rdrdb
Ny o
@i\z%gf {*5%&” A S )
Ao = + Lrckr - z;%g ;; z Aa A&
- (’ZM; UL
) ~ € { A&
&e, (SR
o A
fo s s
= - [- L
0
— gﬁzﬁ : Qf PR o I
- ~ A= £ B A
f{i - 7 _ i Q o ‘;f\:g”




